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GROUP - A

1. Fill in the blanks. (all) _ [1%x12
1 IR gedl axl (20L)

. (a) The Bntlshers explmted Indlan Economy for about




[2]

(d) The women literacy rate in 2011 Census Was %
2011 eacRlca FRR! ARG LI % el |

(e) The family planning programme was officially introduced in

Five Year Plan. i

eodcqy foad @16 AR Q6 _ ggeide
cARAIER 2oa saiRemIl

(f) s year |s knowh as the year of Great Divide in

Indian population.

-~

sloosa) I




[3]

(k) Five Year Plans was started in the year

Q006 QISR cARR cdalea 2Iae 690! |

() Twelfth Five Year Plan covers the period
Qo8 0BQfR 6QARS (1dgle) RIuRIGN 62! |

GROUP -B

Answer any eight of the following questions within two to three

sentences each. _ [2 %8
6A6RER [ g4a 28R 9604RE IR QI G6QIC QRiEa IR @al |

(a) Define colonial exploitation.

AOFERER CHITaR LRI 9AIR *

if: 5




[4]

(f) Define Brain Drain.
Qo aRIEaa LRI Q2|

(@) What is meant by Commetcialisation of agriculture 7

Q8a QUeIIRed aTem @8l Q% 7

(h) Whatis NRLM ?

NRLM 626 961 Q€7




(d)

()

[5]
Distinguish between Zamindary and Ryotwari System.
afQIa 6 QOQIa! gell Frisa aldiay @di |
What is the theory of Demographic Transition 7
PR IRIRRNR 0QF FLEM @6l QW 7

Write down the aims of New Population Policy.

QOR FAA°G F1OQ QRGN @4 ?

Menti_o-n the benefits of migration.




(6]

GROUP - D

Answer any four questions within 500 words each.
626Q1ed ¥G ggQ QaQ geoiag 800 R FrIER W2 |

Examine the features of Indian Economy in the Pre-British pe-
riod. | [7

gIe, @54 9I9R6a RIeeTIE Zdaegia e@%iaqqé@ Qdel !l

Colomsatlon has led to modermsatlon of lndlan Economy ex-




[7]

Define inequality. Examine the causes of inequality in income and
wealth in India. [
AACIR0IR TG gAIP ARG RIREER ARSI dlM 6 AE U6

JAFNROIR FIQGYEFR @dal @R

. “Economic planning in India has failed.” Examine the statement.
[7

“QIneea Y5 caIRaIgDe 2aan cand |7 1@ agtq F64ad
Q| s
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[2]

(d) To , the very success of capitalism is the cause of
its ultimate disintegration.

S F1060 QBRI ZINYR AXFE! @ IR RS

A R4 |

(e) Full form of IBRD is

IBRDQ 9@l QIFt |

) externality leads to more than socially desirable
output.

QIRIG! FIRSQ AIRMROI] 2@ QYRR 621N |

(9) and are commercial crops.

qQ° 2Pl AR 2SS |

~ (h) Use of entrusted power for personal gain is treated as

ESE QI AR P4 FAGIR QQUELIS! 2166 |

(i) is ignored in case of economic growth.

206h0n Jeeea Q. Q699 QAU |

(j)  Non-fuel natural resources are resources.

2l6-2l6nd déie ARG AMQ 26% |

APB-KNJ-Sem-V-22-Eco(C-12)/60



[3]

(k) is a social obstacle for economic development.

996000 Gl RS goeem ZEC |

(1) may break the vicious circle of poverty.

QA QI00e INIBR YAEARI @EQ |

GROUP -B

2. Answer any eight of the following questlons within two to three

sentences each. 2 x 8
Sﬂeiﬂéﬁ I"@ dega e QG@HG?Q@_Q Q| F6RIE QRYER g@l@ @ |

a) Howis GDI calculated ?




[4]

() What do you mean by market failure ?

(f)

QR MY YATFO| @LEM X Q. ?
What is agro-based industries ?
QICR d @6 ?

What is per capita real GDP ff

de qedal el A6AIR AR Fe1 ?

Whai is stationary state ? |




[5]
(b) How agriculture generates economic surplus ?
of af YdeRoq aaqa 98 A6A 7
(c) Explain the defects of agricultural marketing in India.
Q1006 98 FIOR FURE! ACAISR! Tl
(d) Explain financial institution ?
2dale Yl AANEA EROR Q|
(e) Explain three causes of corruption ?

QAIEQ MG FIRE AR @a

' () Establish link between capital formation and human deve-




(6]
(j) Whatis industrial reserve army 7
Aevfe afe 64ql @&l 7

GROUP - D

Answer any four questions within 500 words each.
caedad ¥6 g4e Qaa geeine. 8 de cea @2l

4 Discuss the factors that determine the economic development of

a country. [/

cadq 29000 alg Gde @Sl QCIQIRgRe ACAOR! @Al |

5. Discuss the role of industrialisation for development. [7
Sold 6EE6R REAIIFAER GFR! ZIBRIOR! Qe

5. Point out Rostow’s stages of economic growth and explain.  [7
calcgls e ARQR 6ADIRGER SRE Ne° AR @R |

7. Highlight the role of institution in economic development. [7
Bald gaIEa YNYLR QFIRI ANRER ACAIFRI @R

8 Discuss the role of agriculture on economic development. [7

256000 G066a 93 QFRI USRS AR |

APB-KNJ-Sem-V-22-Eco(C-12)/60




[7]

9. What is poverty-line ? What measures has the government of
India taken for removal of poverty in India ? [7

QY AIFNERE! @€l ? QAN ARG Tl AR VTS LRS!

JQ6ICYER 2ENSR 99 |
[7

10. How corruption is wide spread in India ?

RIRGER R0 MIBAQ FIREIFR 2RISR @4
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(2]

expenditure reduces stability of governmen:

4o AeRIeN 6290 219 P |

taxes impact and incidence fall on the szre




————-

[3]

is burden some than external debt.

() Ininternal debt

PIQueald a8 Qa F6Q8! adl Kl Ol |
GROUP - B

2 Answer any eight of the following questions within two to three

sentences each. [2 %8
ca6516@ 8 99 Q8 g664aYg 9R @ F6RIE QIRiea gIR @l

(a) Define public goods.
dee ARl Qe @A |

(b) What is a balanced budget ?

 dgR0 96@6 AE6R @4 QK ?




[4]
(g) Define incidence of a tax.

AR LR JAUe @ |

) Give three examples of Direct Taxes.

Joig @ 36516 aalead @2 |




[S]

(c) Distinguish between Revenue and Capital expenditure.
QIRY U 6 IB QU FISE TRy QI |

(d) State the features of Peacock-Wiseman hypothesis.
‘Peacock-Wiseman' 6 624q4gee 6md|

(e) State five important canons of public expenditure.
Qe EQ ABE Qe B Q42 |

(f) Distinguish between impact and incidence of taxation.

QQITIe 6 QA FrIsa dldiay @digl |

(g) Distinguish between Money Burden and Real Burden of a
tax.

<@ eaa 2daIR 6 9ge QIR risa AIday Q4
(h) Mention five characteristics of a good tax system.
@ 298 QQ f4gle 8 coEay Q42|
(i) Distinguish between Direct and Indirect Taxes.

JoUs 6 J6RIN @R FIRIER aigiey @412 |

(j) Distinguish between internal and external public debt.

PIaIaeIa 6 9124 ad Fliea aday adi|

P.T.O.




[6]

GROUP-D

Answer any four questions within 500 words each.
) C\f‘

6503 ¥& gga Aaa geieq 8o o IR FRIER 9T

4. Explain the functional finance approach of Public Finance of J.M

R

Keynes.

J.M. Keynes@ 2ioarie QIdiad 2ide Afqe €0l o9

5. Compare and contrast between balanced and unbalanced buc-
get. [7

dgRe 6 UAAYRE QERC, FRIEA YRAIAR 38 FaRe /IS
2RISR FA|

6. Examine the Canons of Public Expenditure. [7
Qe QLA F1PER FEYTS FQl

7. Explain the effects of public expenditure on production and distri-
bution. [7

QQIeR 6 94R QUER ATNLR YAIRYER €Al |al

8. Explain how the incidence of a tax is divided between buyers and
sellers ? [7

40 Faa AaI0 Gaf 680! 6 FEREIT FRIER LR 29 QEAI Q]|
9 Examine the Benefit Principle of Taxation. [7

00 NNMGEG Seqaé aal

APB-KNJ-Sem-V-22-Eco(DSE-1)/50




il
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e GROUP - A | |
blanks. (al)

<42 i

function of money.




MV =

AR =

Cash transaction approach was propounded by
QI SIREIAR g «qiel geRe!

(g) Bank was nationalised in the year

iy

QERe QuE ___ cliesa RIGIanad 624l

interest is paid on __ ) deposits.




GROUP - B
2. Answer any eight of the following questions within two to three

sentences each. [2 % 8
606164 6 g9 Q0 g60Yne 9f @ F6RIG ARIER g @6 |

(a) Define value of money.
AR JAIQ @I B |

two important functions of money.




(4]

(h) Central Bank is the lender of last resort.

ERRIN VF ISR 6618 g G|

(i) What is money market ?




[6]
5 Discuss Keynesian approach to the demand for money.

caeas fala FIeE 6 adal @al

6. Explain process of credit creation by Commercial Banks with limi-
tations. ' [7

QBRI FAFTE FEAIE 6 N2Ia AAIEE! dal @4 |

lain the functions of Commercial Banks.







